JEARTRAT 5 8310 O T ZZ B B 5 D IR

Rk 2 5E9HOWECPNL, Lde n &BEEssAdRasitsicirLET, Bf: WECPNL FE: (Lden) TE: - BRE A EIE
Mo o 1H 2R 3R 4 A 5H 6 H 7H 8 H 9H [10H|11H|12H|13H|14H8(15H(16H(17H|18H|19H|20H|21H|(22H(23H|(24H|25H|26H|27H|28H(29H(30H T W =
(B) | (H) | Ck) [ GR) | OR) | (&) | (L) [ ()Y | CH) | Ck) | GK) [ OR) | (&) | () | (R) [ CA) | k)| GK) | OR) | (&) | () | (A) | (A) [ Ck) | k)| OR) | (&) [ (&) | (B) | (H)
71.7[ 83.8] 101.2| 101.8] 91.6] 84.9] 75.4| 66.7[ 98.3| 102.9[ 99.8| 80.8| 83.7| 75.0/ 96.3| 78.4] 91.5[ 81.6] 82.6[ 85.8] 75.8| T77.7| 73.7| 76.9[ 80.7| 79.3[ 94.4] 96.2 79.8] 78.3 94. 3
1 | RATE AR (52.5)](64.0)](80.9)[(79.5) [ (71.5)]| (66.1)] (56.7)](50.2)[(78.4)|(83.3)](80.2)](62.3)](64.5)|(56.5)|(78.2)]| (55.6)| (71.0) | (63. 1) [ (63.7)|(65.8)] (57.3)| (58.5) | (53.4)[(59.6)|(63.1)](63.0)](72.9)|(71.7) [ (60.2) | (60.3) (74.0)
6 53 127 108 113 34 11 5 92 181 95 59 56 13 25 11 59 102 61 67 11 6 14 72 57 68 126 26 10 59 57.6
73.4 76.8] 98.4| 95.9| 93.0 83.5| 69.4] 74.3| 98.7| 103.8[ 102.4| 74.8 81.7| 102.6/ 93.8| 65.7| 82.5| 84.9| 77.3[ 75.1 66.0( 69.8] 72.6/ 82.5| 84.8| 82.3| 87.5| 7L.7| 71.5] 80.9 94.5
2 [RATE M (55.0) ] (61.3)](80.1)[(76.0)[(72.2)|(65.5)] (52.0) | (56.7) | (77.5)[(82.9)| (81.6)| (57.6) | (65.4) | (84.0)[(75.5)|(47.0)| (63.4)] (66.8)|(59.9)[(59.7)|(50.8)| (51.2) | (56.1)|(64.8)[(66.9)|(63.8)](70.5)] (52.8) ] (53.0) | (63.0) (74.7)
6 53 107 79 74 46 5 7 90 190 109 40 36 49 8 14 45 108 54 48 9 6 7 75 62 84 101 4 4 53 52.4
58.9[ 66.2] 87.2| 82.8| 82.9| 68.5| 58.5| 58.8[ 83.5| 84.0[ 79.9| 64.8 72.3| 88.3| 78.2| 64.7| 69.9[ 73.4] 66.8[ 65.4] 51.1 56.5[ 59.3| 70.1 70.5[ 70.7] 76.3| 58.1 56.5[ 71.1 79.0
3 [KER/NER (45.3)(52.9) | (71.4) [ (67. 1) [ (64.7)]| (54.2)] (43.7) | (44.6) | (64.4) [ (67.7)| (63.7)](49.8) | (58.0)[(73.6)|(64.3)] (44.4)] (53.9) | (58.2) [ (52.2) | (51.6)] (36.9)]| (41.7)| (46.4) [ (55.2)|(56.6)| (55. 1) ] (62.2)| (41.1)[(41.5)| (55.0) (63.3)
7 38 55 54 41 29 5 7 56 140 69 18 23 35 7 5 28 85 36 26 3 4 6 59 56 54 81 3 4 42 35.9
52.6[ 64.9] 83.5 71.2| 77.6/ 62.7| 55.4 -| 76.9] 82.9| 74.2| 64.4| 63.8| 50.0| 55.6[ 64.3] 64.5| 68.9| 62.8| 66.3| 54.7| 49.7| 54.9| 65.6[ 67.2] 64.1 70. 1 48.5 -| 66.0 73.2
4 [ RE/NER (38.0)](50.1)](66.9)[(57.8)(60.2)] (48.3)] (41.0) —|(60.8) [ (67.6) (59. 1) ] (49.4) ] (49.4) [ (36.8) [ (42.0)| (49. 1)| (50.7) | (54.3) | (48.7)[(51.4) | (40.7)] (32.8) | (44.3) | (51.0) [ (52.3) | (49.4)| (54.9) | (32.7) - (51.6) (57.3)
3 42 73 55 34 12 6 0 38 124 40 24 25 4 3 25 19 70 29 33 5 1 7 47 32 35 81 1 0 40 30.3
45.6| 54.7[ 78.1 76. 1 78.4| 65.3] 53.1 44.2] 79.3] 80.9] 80.1 48.2| 67.6[ 78.4| 78.2 44.8| 64.6[ 59.9 47.9] 61.3[ 56.9 49. 2 47.5| 57.8] 63.6] 55.1 63.4] 72.1 47.3] 60.4 73.4
5 (Bl M5 gk (27.1)](40.0) ] (64.0) [ (61.0)[(59.7)| (51.2)] (37.1)](25.7)|(62.7)|(66.5)| (64.8)] (34.7)](50.2)[(65.5)|(62.6)] (25.4)](49. 1) | (44.5) [ (36.2) [ (44. 1)] (40.2) ] (32.7)](30.3) [ (43. 1) |(46.6)] (39.1)](47.8) | (56. 1) [(28.7)| (41.2) (58.3)
1 6 36 17 14 6 5 1 32 57 28 2 6 26 12 1 10 10 2 5 4 2 2 4 7 3 8 4 2 3 10.5
49.1 66. 1 81.9[ 81.2] 76.4 72.8| 60.6/ 50.4| 79.7| 86.3| 85.3] 63.9[ 66.1 59.8[ 78.0] 72.1 69.8[ 63.2] 64.0] 68.1 58.9[ 60.7] 55.0/ 63.2| 66.4] 66.6( 68.9] 72.6[ 57.7] 61.1 76.6
6 [JEE 1B i S E (36.7)](50.8) | (64.5) | (61.9)[(60.6)| (54.3)] (45.5) | (34.6) | (66.5) [ (71. 1) (68.9)| (48.9) ] (50.8) | (45.0) [ (65.2) | (55.5)| (55.6) | (49.0) | (49.9)[(53.2)|(43.9)]| (47.7) ]| (41.1) | (48.8) [ (51.7) | (52.9)| (54.0) | (57.4) | (43.7) [ (46.9) (60.9)
3 44 99 62 61 13 7 2 32 100 37 24 39 10 19 79 35 34 30 48 7 8 2 28 30 25 35 6 6 18 31.4
49. 1 58. 1 77.7( 84.2] 70.1 64. 1 49. 6 -| 73.2] 81.0[ 76.7| 60.9] 64.1 58.6[ 75.3] 52.8 66.7| 59.7| 62.5( 63.7] 55.4[ 53.4 -| 52.3] 61.2| 57.6] 73.6/ 66.5] 50.9 48.0 73.1
T | BESE R (35.1)](44.4)](62.0) [ (67. 1) | (55.1)] (46.0)] (37. 1) ~(61.5)[(66.5)|(64.6)] (48.0) ] (50.2) [ (44.3) [ (62.4)| (38.8) ] (53. 3) | (44.8) | (49. 1) [ (49.8)| (41.6)] (40. 2) —[(39.2)[(47.5)| (47.5) | (56.5) | (54.4) [ (37.4) | (35.9) (58. 1)
2 6 38 27 30 3 2 0 12 40 19 12 17 8 12 2 22 9 17 18 3 4 0 3 12 4 12 5 3 2 11.5
45.8 62.8| 85.2 79.3| 83.0| 78.3| 60.7| 57.0[ 91.6] 95.6( 92.6] 67.3[ 71.0] 61.4| 89.4] 60.9| 80.2| 71.7| 68.3] 69.9] 56.2[ 67.6] 56.1 66.6( 73.6] 69.6[ 79.2| 86.6/ 61.4| 65.9 84.9
8 |VHEB[E /N (30.5)](49.4) | (67.4) | (61.6) [ (65.3) | (61.0) ] (46.3) ] (40.8) | (75.0) [ (77.6) | (73.9)| (52. 7) | (55.2) | (47.5) [ (73. 1) (44.2)| (63.3) | (55.7)| (53.5) [ (54.8) | (42.8)| (52.6) | (41.4) | (51.7) [ (57. 1) | (56.3) | (60.4) | (67.8) | (46.2) [ (51. 1) (67.2)
1 44 96 75 66 19 8 1 39 129 49 37 44 9 21 6 41 61 39 47 5 5 2 34 41 30 72 8 6 22 35.2
71.7( 65.9] 79.7( 70.8| 75.2| 66.8] 61.4| 66.2[ 68.0] 76.6[ 68.6] 59.9[ 67.7] 63.3] 66.6] 69.5| 70.2| 65.6] 66.9[ 67.1 66.3[ 70.2] 66.2] 65.0|/ 67.0] 66.7| 68.7| 67.5] 69.9] 65.5 70.4
9 [FHELEF /N (50.8)](49.6) | (64.4) [ (53.0)[(58.9)| (50.6) ]| (45.3) | (49.2) | (55.0) [ (60.8) | (56.7)| (43.7) | (49.7)[(46.3)|(52.9)| (49.5)| (51.6) | (49.4) [ (50.2) [ (51.0)] (49.2) | (48.7)| (46.0) [ (48.9) | (50.0) | (50. 4) | (52. 4) | (53.5) [ (49. 1) | (49. 3) (54. 3)
9 10 42 24 27 7 3 3 14 16 17 5 9 2 15 5 14 6 6 19 4 7 4 8 7 7 21 6 5 7 12.0
—| 56.4] 75.6[ 71.4] 78.0| 74.6| 43.6| 60.4( 77.2| 83.8[ 8I1.1 60.5[ 54.5| b51.5/ 79.2| 65.9| 65.6| 63.3] 63.4] 59.2| 52.8f 56.5| 57.3| 63.8| 62.8| 64.0| 68.2| 70.8[ 56.1 64. 2 73.6
10 |32 4 [ /N4 —[(44. 1) [ (60.3)| (56.6) | (61.2) | (59.4) [ (31.4) [ (45.2)]| (65.5)](70.6) | (67.3)[(47.6)[(40.8)|(37.9)] (66.1)| (51.3)[(53.3)[(50.0)| (49.3) ] (43.5)| (41.0) [ (45. 1) | (47.0)| (48.7)] (50. 1) | (51. 6) [ (52. 8) | (59. 7) | (46. 6) | (49. 9) (60. 1)
0 9 72 40 81 15 1 2 55 77 43 13 5 5 18 27 16 37 16 4 2 4 5 20 18 40 34 4 5 26 23.1
72.0( 66.9] 75.2 74.0| 74.4| 69.4] 59.9| 55.8[ 70.5| 74.0( 73.7| 65.6/ 68.2| 72.6| 76.5] 69.9] 68.0[ 67.3] 65.6/ 63.2] 62.7| 68.3] 69.5| 62.3] 62.1 66.9[ 67.5| 66.4| 57.8| 62.4 70.2
L1 (e e T A Ak 2 (57.2)] (51.4)] (61. 1) [ (60.0) [ (59.2)| (53.1)] (43.1)](38.5)|(56.8)|(60.5)]| (59. 1)| (51.4) | (52.7)|(60.4)|(59.2)]| (52.7)] (53.8)|(53.8)[(52.0)|(48.3)] (47.7)] (50.4) | (563.5) [ (47.2)|(47.6)] (52.9) | (53. 7)| (50. 2) [ (40. 6) | (46.9) (55.5)
45 23 73 47 80 38 4 2 66 117 85 35 23 22 24 11 43 57 38 14 13 14 18 17 11 34 27 5 2 14 33.4
57.3| 57.3| 77.0f 66.3| 76.4| 58.7[ 48.1 53.7[ 79.5| 83.5[ 85.8| 56.4| 64.3| 78.0| 75.1 61.2[ 64.8| 65.2 57.9| 58.5| 43.3| 47.5| 57.5[ 60.3] 62.4 60.9| 67.4] 54.8] 50.2| 58.7 74.8
12 | RBE 224 (40.8) ] (43.3) ] (62.8) [ (54. 1) [ (61.9) | (45.4) | (35.8) | (41.0) | (62.5)[(68.8)|(71.2)| (42.2) | (47.4) | (65. 3) [ (60. 3) | (43.5)| (49.5) | (50. 8) | (44. 6) [ (45.8) | (27.7)| (35.4) | (46.3) | (47.8)[(50.3) | (49. 1)| (51.8) | (41. 3) | (36. 8) [ (45.9) (60. 2)
3 9 27 17 15 13 2 5 33 51 41 8 7 26 5 2 9 25 11 10 1 2 5 17 24 18 12 2 1 15 13.9
43. 1 59.8[ 80.7] 66.7| 83.7| 60.8 49. 1 -| 61.6] 72.8] 65.9] 55.4] 58.1 - 59.0 45.0| 63.4| 57.2] 53.9[ 60.8] 52.1 - 51.1 52.0 44. 1 53.0( 72.2] 51.0 -| 53.0 71.3
13 |32 B/NERE (30.5)] (45.2) | (64.7) [ (52.7)| (66.2)| (45.5) | (35. 4) - (47.3)[(57.3)|(50.9)| (42.5)| (45. 1) —|(45.3)[(31.6)](49.0) ] (44.0) | (41. 1) [ (46.3) | (38. 3) -1 (37.5)[(37.8)(29.2)] (37.0) | (56. 5) [ (40. 7) -1 (38.7) (54.7)
1 28 33 28 18 6 2 0 6 47 17 5 11 0 1 1 13 8 5 21 5 0 2 4 1 5 20 1 0 3 9.7
J A S RABETEY 54.3| 58.5| 72.0( 76.2| 76.4| 61.7| 46.0| 43.9 77.8| 84.7[ 66.9] 53.5| 53.7| 54.9| 65.4] 49.0| 60.6[ 64.1 57.6[ 56.6] 53.3| 46.3| 48.0| 61.3| 64.2| 61.9[ 67.1 50. 6 -| 63.5 72.1
14 e (39.4)] (44.1)| (57.2) [ (62.5) [ (61.0) | (46.5) | (29.8) | (25. 1) | (62. 2) [ (68. 1) (51.3) | (40.0) ] (39.0) | (42. 4) [ (48.2) | (33.2)] (46.8) | (50.0) | (44.3) [ (41. 1) (39.8)| (31.1)] (36.8) | (46.8) [ (50. 3) | (47.8) | (53.4) | (37.4) - (49. 1) (56. 3)
2 14 23 29 18 11 1 1 21 76 15 8 4 6 7 3 11 40 4 7 4 1 1 22 22 34 55 1 0 31 15.7
T 17 0 e 4 45.5| 56.4| 82.5] 82.3| 72.4 44. 6 -| 52.9] 66.8 72.8| 68.6] 57.8] 61.9] 53.5] 65.5| 52.0[ 61.2| 56.7| 70.5] 59.5 44.8 -| 52.8] 52.9 47.3 -| 64.6] 54.0 -| 49.9 71.5
15 i (32.9)| (43.6) ] (65.7)|(67.5) [ (57.2) | (33.2) [ (34.4) [ (54.0)| (58.6) | (55.6) | (46.6) [ (47.7)[(38.3)] (53.3)] (37.8) ] (48.9) [ (44.2) [ (52. 1)| (46.4)] (32. 1) —| (40. 3) [ (40.4) | (38.7) - (48.3) [ (40.9) - (37.4) (56.0)
1 6 26 21 24 1 0 2 9 32 14 8 11 3 10 2 14 8 14 10 1 0 2 1 1 0 7 3 0 3 7.8
56.8[ 61.1 85.4| 81.3] 80.9( 57.9| 51.6| 52.7| 72.5| 76.7[ 74.7] 56.7| 66.5| 86.1 73.9[ 59.7] 61.9[ 60.5] 55.9| 60.0| 47.7 -| 59.4] 59.7| 61.5| 65.0| 7I1.4[ 46.3| 44.6] 55.2 75.9
16 |HRRA L (42.5)](47.4) | (70.4) [ (65.7) [ (64.5)| (44.6) ] (36.0) | (39.0) [ (57. 1) [ (61.4) | (58.9)| (42.8) | (53.2) [ (71.7)[(62.4)| (44.6)] (46.8) | (47.3) | (43.5) [ (46. 1) ] (33.0) [ (44.7) [ (47.7)| (47.7)] (50.8) | (56. 1) [ (33.7) [ (31.3)| (41.7) (61.0)
4 18 42 27 26 8 3 3 39 78 44 8 9 32 6 3 5 29 11 14 2 0 7 24 23 48 27 1 1 7 18.3
-| 47.5] 65.7| 65.6| 75.5 - -| 51.5] 55.8] 62.0] 65.2| 55.1 50.2 52.1 58.9 -| 54.0 -| 65.7] 53.3] 54.6 - - 47,1 - 44.2] 51.1 46. 8 - - 62.6
17 | - (36.5)| (51.0)]| (51.4) [ (56.3) - -[(33.8)](42.9) | (49.5) | (48.8) [ (42.1)] (38.8) | (39. 6) [ (44. 2) -| (42. 0) - (47.7) [ (41.0)| (41.0) - - (34.3) —-1(29.8)[(39. 1) (34.9) - - (45. 4)
0 2 10 13 21 0 0 1 5 16 6 3 4 1 6 0 4 0 6 3 1 0 0 1 0 1 3 1 0 0 3.6
-| 50.3] 68.2| 72.5| 72.6| 47.3 - -| 53.7] 53.3| 63.8] 43.6 -| 43.2] 55.7| 46.0| 55.0| 44.9| 67.0] 49.4 - - - - - 43.1 55.6[ 48.9 - - 62. 4
18 |#8)1| Hh 224 -1 (36.5) [ (52.8) | (58.6) | (54. 5) | (36.6) = - (42.9)| (43.2) ]| (47.7) | (31.6) -1 (32.2)[(42.0)|(27.0)| (42.6) | (30. 1) | (48.7)[(36.5) - - - - -1 (29. 8) [ (42.5) | (38.5) - - (46.9)
0 2 8 8 8 2 0 0 3 2 8 1 0 1 5 1 6 1 7 3 0 0 0 0 0 1 3 1 0 0 2.4
46. 6 -| 63.6] 51.6/ 76.2| 55.4 43.5 44.4] 70.5[ 77.1 72.1 55.8 44. 4 43.9| 67.3 -| 62.3] 51.0 49.4 44.5 - -| 53.4] 53.6/ 56.0| 57.5| 67.3] 68.1 43.3] 51.2 66. 8
19 | KB/INERE (33.4) —1(49.0)[(38.2)| (58.0)] (41.0)](30.8) [ (31.2) [ (57.1)|(63.6)] (59.7) | (41.8) | (31. 1) [ (30.6) | (55. 6) —[(49.4)[(38.8)] (37.7)] (30.9) - —[(40.2) [ (40.4)| (42.5)] (43.4) | (51.3) | (65. 1) [ (30. 4) | (37.0) (52. 6)
1 0 10 2 15 6 1 1 13 26 13 3 1 1 13 0 10 3 3 1 0 0 3 5 5 6 4 2 1 3 5.1
Eyasa=s -| 43.1 72.0( 73.9| 77.4[ 47.3 - -| 66.9] 72.8] 61.0] 47.0] 45.3 -| 47.6 -| 49.9] 55.3| 49.0] 45.3 - —| 45.0] 54.0 50.2| 55.4| 64.3 - -| 48.4 66. 2
20 S s — - (30.9)[(57.4) | (58.4)| (61.7)] (34.3) - - (51.8)[(58.9) | (46.3) | (35.9) | (30.9) - (30. 1) —| (35.6) [ (40.8)|(34.9) | (31.0) - - (31.5) [ (40. 1) (36. 1) | (40.6) | (47.0) - -[(33.7) (51.0)
0 1 16 7 11 2 0 0 11 27 1 1 1 0 1 0 2 3 2 1 0 0 1 6 2 9 9 0 0 1 3.8
43.6| 51.5[ 68.1 67.1 74.1 57.9[ 78.1 48.3] 76.2 70.6] 64.1 55.6/ 55.6] 63.2| 55.4] 51.5 47.9] 65.9[ 54.0 43.2 45.9| 51.4| 51.8] 62.3| 66.4] 60.4| 63.4 - - 62.4 67.7
21 |fHAT S (35.3)](38.1)](53.0)[(53.5)[(57.6)] (43.2)](60.1)](38.9) | (61.5)[(54.2)| (48.6)| (41.8) | (41.2)[(53.4) [ (45.6)| (34.6)] (34.8) | (51.0) [ (42.7)[(31.0)| (34.6) ] (36.3) | (41.2)[(47.9) | (51.7)| (45.8) ] (49. 1) - - (46. 1) (51.9)
1 4 15 19 18 5 15 1 12 34 7 2 5 17 2 1 1 20 6 1 1 1 1 13 15 15 17 0 0 7 8.5
43.7 -| 73.0] 69.9] 78.1 44. 1 - -| 59.5] 65.1 64.0 -| 59.2] 73.8[ 66.4 -| 56.9] 48.1 - - - - 44.8 -| 46.6 -| 62.7] 47.0 - - 66. 5
22 RS A/ (31.5) - (61.5)| (56.3)] (62. 2) | (31.4) - | (47. 1) [ (52.0) | (49. 3) —| (42. 8) [ (62.9) | (55. 6) -| (40.6) [ (36.3) - - - -1 (32.9) - (33.4) - (49. 1) [ (33. 0) - - (53.2)
1 0 15 10 15 1 0 0 10 26 20 0 1 22 3 0 2 2 0 0 0 0 1 0 1 0 3 2 0 0 4.5
50.9 48.0| 68.5[ 65.2] 80.0 48. 1 - -| 65.1 69.5[ 71.5 43.7] 52.4| 71.5] 67.3 -| 55.1 -| 44.9 - - -| 51.2 44.5 - -| 52.8 - - - 67.2
23 |/NFR /N (36.9)](33.7)(57.4)|(53.2) [ (64.1)] (34. 1) - [ (51.4)[(55.6)| (56.4)] (31.5)](40.5) [ (59. 8) | (52. 6) -| (40. 4) -1 (30.5) - - - (40. 1) [ (31.9) - - (41.8) - - - (52. 6)
1 1 15 10 8 2 0 0 12 28 21 1 3 22 3 0 3 0 1 0 0 0 2 1 0 0 2 0 0 0 4.5




